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 Rm  
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Rm = R . 
c 2. 

 

  
 

Rm
2

 
 [1]: 

5

3 0
1 2 0

2 4 0

1 ln(1
1m a

a
R a a

a a
, 

0 = 0/(m0c2); 1 1,209

0, 2335 ;Aa
Z

 2 -4 Z; a3 = 0,9891  -4 Z; 

a4 = 1,468  -2 Z; 5 0,109

1, 232a
Z

. 

0  m0c2  
 A  Z   

w Z  = 7;  = 14 [2]. 
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w Z  = 7,7148;  

Z  = 11,8598;  = 23,6113. 
Rm 

E  1-

 

2,942,94

1

n

i i
i

Z w Z ; 

( / )
Z

A
Z A

 = 

2,942,94

1

2,94
2,94

1

/

n

i i
i

n

i i i
i

w Z

w Z A
. 

 

 
    

    
1
1H  0,1 0,064 31

15  0,0002 0,07 
12

6 C  0,11 0,278 32
16S  0,0024 0,002 

14
7 N  0,026 0,027 35

17Cl  0,0018  
16

8 O  0,75 0,41 39
19 K  0,003 - 

23
11Na  0,00016 - 40

20C  0,00003 0,147 
24
12 Mg  0,00019 0,0002 64

29Cu  0,00018 - 
 

Z  , 

Rm  -
 

 

 
 Rm, 2  

  
1 0,4370 0,3885 
2 1,0107 0,8844 
3 1,5872 1,4175 
4 2,1849 1,9533 
5 2,9691 2,4684 
6 3,3454 2,9927 
7 3,9307 3,5177 
8 4,5149 4,0405 
9 5,0980 4,5616 
10 5,6797 5,0811 
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3. Effective atomic number (EAN). www.britannica.com/.../effective-

atomic-numb. 
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